
Review for MCV4U-Unit 2 •fcX

1. Determine /'(—2) for the function fix') = — then find the equation of the tangent.

Tf=0:“ Z

f'esO- -

- 4>

f 'c-O- -zJx 
6-0 ^

iJ2T
T&

— 3

3-

(x+a)

i rS)lifiedt2. Differentiate /i(x) = (Vx + l)(3x2 — 5x) and leave the answer unsimplifie
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3. Differentiate/(x) = x(4x — l)(6x + 3)
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4. Find the derivative of the following:

a) f(x) = (x2 - x + 2)8 b) /(x) = V2x2 + 3
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A. Determine where the function fix) = V 2x2 — x — 3 is NOT differentiable.
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5. Differentiate fix) = (x2 + l)3 (2 - 3x)4. Your final answer should be fully factored.
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6. Determine the equation of the tangent to y = —— at x = 0.xz+l
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7. If _y = 2w4 -3u2 +u-l, and if u = 4yfx , then evaluate — at x = 1
, dx
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8. If/(x) is a differentiable function, determine an expression for the derivative of g(x) = 3x2f(x2 - 3).
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Challenge:

9. What is the maximum slope of a tangent to the function fix) = -x3 + 4x - 2?
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10. Show that there are no tangent to the curve /(x) = that have a negative slope, j y ^ *L~
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11. Determine the derivative of k(x) =

k CaO= <yc-3'
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using two different methods.
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12. The normal to fix) = ——r at (2, 1) intersects the graph of/(X) at another point. What are the coordinates of theJl 1
other point?
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13. Determine the derivative of/(X) = (X + l)2(3x- 5)4. Write your answer in simplified factored form.
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b. Determine the value(s) of x for which the graph affix) has a horizontal tangent.
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